Limits: Tier 1 & Tier 2

1. Find the limit:
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2. Find the limit then graph: lim

e e U QP R
h ' | v v

'

bt et Teliialls Bl il
:

N iy A
'

S RS S G R A S R
B L T PR O O
bbb b
chededdodo bbb g b
e et R e R R it ROR  ETELEEE S
B O O O S0 O O 0 1
(SN S O SN S HEP ORI S S SO S
Y" ! 1 ' ! ' ! 1 : ' 1 ' ! ' ' 1
L L L L L L L L L L L L L L L L
T T T T T T T T T T T 1 T 1 T T
[==1 = R T B L s Y 1|_23_ﬂ._5ﬁn1|0u
B e s Sl A Rt iy HP U e Sty Sk Sl At
R A S ) o - [P P R

4_4_m3
2

m

m-0

3. Find the limit: lim zm



